DIVISION WITH A REMAINDER (H - SET 3)

Drvsion Name:
Time: Score: A
n 5885 + 10 = 16 7941 + 1 =
2 9176 =+ 10 = 1712499 =2 =
5 306 =5 = 18) 80868 — 9 =
19 220 +5 = 19) 42274 =6 =
5 0515 =3 = 200 36185 =5 =
6 6439 — 1 = 21 157+ 10 =
N 21392 +5 = 22) 6000 =+ 10 =
5 17820 +2 = 2 1338 +5 =
0 30471 + 4 = #3315 +5 =
1) 10571 + 8 = 2 9948 + 1 =
7703 + 10 = 2 6079 +3 =
12) 7294 = 10 = 27 38170 -4 =
13) 1499 = 5 = 28 19051 = 2 =
1 2051 =5 = 29 33997 =7 =
15 72101 =+ 10 = 028954 +6 =
Mathematics: Division - Level T - Horizontal - Set 3 20 cul
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